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QUESTION 17
Which CLI command shows syslog on NSX Manager?

A. show log manager follow

B. get log-file auth.log

C. get log-file syslog

D. /var/log/syslog/syslog.log

Correct Answer: A

QUESTION 18
Which three protocols could an NSX administrator use to transfer log messages to a remote log server? (Choose
three.)

SSL
HTTPS
TLS
UDP
SSH
TCP
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Correct Answer: CDF

QUESTION 19
Which command is used to set the NSX Manager's logging-level to debug mode for troubleshooting?

set service nsx-manager logging-level debug
set service nsx-manager log-level debug

set service manager log-level debug

o0

set service manager logging-level debug

Correct Answer: C

QUESTION 20
The NSX Control Plane is responsible for which two functions? (Choose two.)

A. receive and validate configuration from NSX Policy
B. host API services

C. propagate topology information
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D. push stateless configurations to forwarding engines
E. maintain packet-level statistics

Correct Answer: CD

QUESTION 21
An NSX administrator is using ping to check connectivity between VM1 running on ESXil to VM2 running on ESXi2.
The ping tests fails. The administrator knows the maximum transmission unit size on the physical switch is 1600.

Which command does the administrator use to check the VMware kernel ports for tunnel end point communication?

A. esxcli network diag ping -H <destination IP address>

B. vmkping ++netstack=geneve -d -s 1572 <destination IP address>
C. vmkping ++netstack=vxlan-d -s 1572 <destination IP address>
D

. esxcli network diag ping -I vmkO -H <destination IP address>

Correct Answer: C

QUESTION 22
How is the RouterLink port created between a Tier-1 Gateway and Tier-0 Gateway?

A. Automatically created when Tier-1 is created.

B. Manually create a Segment and connect to both Tier-1 and Tier-O Gateways.

C. Manually create a Logical Switch and connect to bother Tier-1 and Tier-0 Gateways.
D. Automatically created when Tier-1 is connected with Tier-0 from NSX UI.

Correct Answer: D

QUESTION 23
What is the most restrictive NSX-T built-in role which will allow a user to apply configuration changes on a NSX Edge?

Cloud Service Administrator
Network Engineer
Network Operator
NSX Administrator
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Correct Answer: B

QUESTION 24
A customer is preparing to deploy VMware Kubernetes on an NSX-T Data Center. What is the

minimum MTU size for the UPLINK profile?

1500
1650
1550
1600
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Correct Answer: D

QUESTION 25
Which tool could be used to inspect the path of a packet in the data plane?

A. Port Connection
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B. Port Mirroring Session

C. Netflow

D. Traceflow

Correct Answer: D

QUESTION 26
Which two statements are true about the implementation of multicast in NSX-T Data Center? (Choose two.)

Multicast routing is implemented with PIM Sparse-Mode.

IGMP Snooping is used to populate multicast forwarding tables.
Tier-0 gateways can be the Rendezvous Point.

Multicast is supported in ESXi and KVM transport nodes.

An Edge can be the Rendezvous Point.
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Correct Answer: AB

QUESTION 27
An NSX administrator has deployed an NSX Edge on a bare-metal server. Which command

registers the NSX Edge with the NSX Manager?

A. join management-cluster <nsx-cluster-IP> username admin password <admin-
password> thumbprint <nsx-manager-thumbprint>

B. join cluster <nsx-cluster-IP> username root password <root-password>
thumbprint <nsx-manager—thumbprint>

C. join policy-manager <nsx-manager-ip> username root password <root-password>
thumbprint <nsx-manager-thumbprint>

D. join management-plane <nsx-nanager-ip> username admin password <admin-
password> thumbprint <nsx-manager-thumbprint>

Correct Answer: D
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